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ECONOMICS

( Honours Core )

Paper : ECO-HC-3036

( Statistical Methods for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OO 2PTYRR Tl fran

(a) What is statistic?

Aot 2

(b) What is the first moment about the
mean?

M 2 gl 9

(c) Define probability.
FFIReR Age
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(2)

(d) When are the two events said to be
mutually exclusive?

O TB1 GO At afete gfer crar 2w 9
(e} What is random variable?
I ve13 19 2

(N Is binomial distribution a distribution of
continuous random variable?

faom 16 wfdfvea amies verpa 54 e 2

(g9 What is the shape of the normal curve?
FrERF R AP (PP 2

(h) What is sample?
siford 15 2

() What is correlation?
RESCEE

() Mention one property of random
sample.
qites aAfomfa 9ot «f Sramy w4 |

2. Answer the following questions : 2x5=10

o9 2T Tey

(a) Distinguish between population and
sample.

TR W 2Afoe( rwa o2 B |
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(3)

(b) State the addition theorem of
probability.

ISR @15 TG Seard 39 |

(¢) Mention two properties of the uniform
distribution.
B 751 4 Tead 4 |

(d) What is covariance?

A2 5 9

(e) What is stratified random sampling?

WIS i Afowa 2

3. Answer any four of the following questions :
5x4=20
O 2PTRRS 7 Gl BIRER T fia
(@) Prove the multiplication theorem of

probability.
IR 2[4 GBI 21 47 |

(b) A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).
b1 RS T X G W R W —1, 0, 1
o, RFRomR e 7= | E (X) Shiear |
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(4)

(c) Explain the concept of distribution
functions for jointly distributed random

variables.

eerE ABe  HRE A ADT T
IREICOT T 340 |

(d) Mean of a binomial distribution is 4 and
its standard deviation is J3. Obtain the

values of n, p and g.

fom 3B <GB WY 4 WF A=F {659 /3.
n, p 9% g 3 I Tfpe

(e) Explain Bayes’ rule.
RZTR s = 0

(/ Explain the multistage random
sampling.

TEHAT AeF ATSEET T AT |

4. Answer any four of the following questions :
10x4=40

ool PR i el BiReR Sed fir

(@) Derive the mean and variance of
binomial distribution. 5+5=10

o 3% Tt S 27 Sferear |
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(S)

(b) Define probability mass function (pmf).
Derive Poisson distribution as a limiting
case of binomial distribution.

TR S To W (pmf)d K@ a1 few
%9 TS TG Bpiest «@is a6 Brear |

(c) Discuss the properties of normal
distribution.

1T IBT 4R AT 541 |

(d) Find Karl Pearson’s correlation
coefficient from the following data and
interpret the result : 8+2=10

ol O AR_1 Il PIRe T 94
e w1 TP I 39141

15 16 17 18 19 20
Y : 8 75 60 40 30 20

fe) An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of
three or both.

TR qeel @b weewr ¥H1 o
TRIET Bl JW I A 37 G A B
EER TSIl e |
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24A/85

What are the principal steps in a sample

survey? Discuss.

aiftoref FRrrI 2 TR 6 62 S

41 |

Mention the difference between mean

deviation

standard deviation.

Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

o Roee WF A Qoo Wed A1 SCEd
w41 | W e w1l Sred 41 | et fom
BR[|l SfAfes s e qme [{be e

¥4 :

Age (I57)

0-10
1020
20-30
30-40
40-50
50-60
60-70
70-80

Persons (%)

15
15
23
22
25
10
5
10
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(h) Define the following with the help of one
example each :

ACOIFCA ADIE THIZIFTZ. ol acaa 5ea]
fira

(i) Sample space
effiorf 37f3
(iij Conditional probability
AT TSIl
(iii) Independent events
oF Wonl
() A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.

Find the probability that both balls
drawn are black. 6+4=10

951 @s 5 B 0 W 4 B Tl @ R
AR IS TFANE OF Pree e 2 B
= TRl 2 | [l 39 A (AR !
forefa v 1
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